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11. Ts CO, involved in the light dependent reactons?

12, What has happened to the water in the diagram, and what three thinps ate produced?,

:

13. What pigment absorbs the light enetgy and how Is jt represen ted in this model?

14, "What is the souzce of the electrons {£) that enter PGB0?

15. What molecule ultinately takes up the electrons that leave P60 and F700?
: ;

16. Where do the ATP and NADPH go?

‘Model 3: Close~up of the Thylakoid Mesmbtate

' The electron transport chain is Thylakold = °
formed by a sedes of electron membrane \\\l N ,
aceeptar molecalzs in the thylakoid - w P N
4 e & ©V® BN

membrane. 'The movernent of
elettrons through the transport
chain provides enetgy to pump Iy
across the thylakoid membzane
against the H concentration.

| pradient.

. 17. Why is enexgy needed to pamp H* across

&

Inner thylakoid v
space e

{{\\

the thylakeld membrane?

]

i 18. Why do the H* leak back into the stroma?

19, Theough which molecule in the membrane does this leaking process oecur and what type

7

of blological molecule is this?

20. TWhat malecule is produced as 2 sesalt of the ' leaking buck through the membrane?

Model 4: The Light Independent Reaction of Photosynthesis

(The Calvin Cycle)

Ix1C f

GOy molecules entex

(32197 used to geasrate
ghicase (60 and other

molecules

21, How many CO; olecules eriter the Calvic cyele?

27, WAsplain in detail, using complete sentences, tyver the two reactions (ight depeodentand mﬁw
dight independent) depend on each ather. 2y

23. ‘How many tums of the Calvin Cydeare requirad to produce one motecule of glucose? §

24. o many carbon atoms are needed to create 2 single molemle of glacose?

%5. How many molecales of NADE
ghecose?

B 2nd ATP aze needed to produce one molecule of

6. Under cach molreule in the n@n&opm&oﬁ indicate whether.it is used or ptoduced and
. in which reaction (the Light Dep endent or Cabvin Cycle) that occuss. :

6CO, +

G0 > CHOs + 60



